Model Question Paper for the post of Lower Division Clerk

Section A

1. gHId Eeedl UhagAT Siiat HigdaTh e drTd.

IS 5. STt
2. Srd 6. TOIT
3. |qTH 7. AT
4. FUEII 8. TN
9. STrat

A. 1-5; 2-6; 3-8; 4-9
B. 1-9; 2-5; 3-7; 4-8
C. 1-5; 2-6; 3-7; 4-8
D. 1-9; 2-6; 3-8; 4-9

Answer: B

2. T faedl @ Shel AT Fhar aega.

A.23 - JEH
B. 64 — 9dH%
C. 57 - A
D. 99 — d=4TUUTT

Answer: D

3. TATATLT AT FHIHT ITLTAT AT=AT AT THTIT STTSAT AT

1. Administrator
. Clerk
. Controller

E SNV N\

. Executive

. 1-6; 2-5; 3-8; 4-9
. 1-8; 2-7; 3-5; 4-9
. 1-9; 2-7; 3-5; 4-6
. 1-6; 2-9; 3-8; 4-5

OO WX

Answer: C

SAGREED

6. FTATIEHTN
7. fordi=

8. ATEATTH
9. WITHH



Section B

4) The average age of husband, wife and their child 3 years ago was 27 years and that of
wife and the child 5 years ago was 20 years. The present age of the husband is

A) 53 Years
B)40Y ears
C) 50 years
D) None of the above

Answer:B

5) Find the missing number. 1, 4,9, 16, 25, 36,49 ( ).
A) 54
B) 56
C) 64
D) 81

Answer: C

6) ‘K’ is in Knowledge in the same way as ‘H’ is in
A) Hunt

B) House

C) Honest

D) Hut

Answer: C



SECTION C

7) The minimum age required to become the Prime Minister of India is
A) 25 Years
B) 30 Years
C) 40 Years
D) 35 Years

Answer: A

8) Asian Games 2018 were held at -
A) Doha

B) Bangkok

C) South Korea

D) Jakarta

Answer: D

9) International Yoga Day is celebrated on
A) April 7

B) June 5

C) August 6

D) June 21

Answer:D



